
Homework 7 
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3) A cargo boat leaves the harbour at 11am and travels due north at a speed 

of 𝑈 kilometres per hour.  At the same time a ferry is 10 kilometres east 

of the harbour and is travelling at 2√2𝑈 kilometres per hour on a bearing 

of 3150. 

 

a) Taking the harbour as the origin find the position of the ferry boat relative 

to the cargo boat in terms of t, where t is the time in hours.  

           (4) 

 

b) Show that the minimum distance between the ferry and the cargo boat is 

2√5 kilometres.         

            (5) 
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